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QUESTION 1

What statement describes the iSCSI client system\\'s iSCSI database? 

A. The client maintains a text formatted file, /etc/iscsi/iscsi.db. 

B. The client can use either a local database in the form of a Berkeley DB formatted file in /etc/iscsi or a distributed
database in the form of Internet Storage Naming Service (iSNS) as its database. It is a decision for the System and
Storage Administration team. 

C. The client maintains a local database in the form of a directory tree structure in /var/lib/iscsi. 

D. The client maintains a local database in the form of a directory tree structure in /etc/iscsi/db. 

Correct Answer: A 

 

QUESTION 2

Which two statements are true about a btrfs file system on a SSD flash disk? (Choose two.) 

A. The TRIM/discard feature is enabled by default. 

B. btrfs automatically turns off all optimizations for rotational media. 

C. btrfs automatically detects SSD. 

D. You must enable the SSD option during the creation of a btrfs file system. 

Correct Answer: BD 

 

QUESTION 3

Examine this extract from /etc/httpd/conf/httpd.conf for virtual hosts: 

 

ServerAdmin webmaster@sute1.example.com 

DocumentRoot /www/docs/site1.example.com 

ServerName site1.example.com 

 

 

ServerAdmin webmaster@sute2.example.com 

DocumentRoot /www/docs/site2.example.com 

ServerName site2.example.com 

Latest 1Z0-105 Dumps | 1Z0-105 VCE Dumps | 1Z0-105 Braindumps                                2 / 4

https://www.passapply.com/1z0-105.html
https://www.passapply.com/1z0-105.html
https://www.passapply.com/1z0-105.html


https://www.passapply.com/1z0-105.html
2024 Latest passapply 1Z0-105 PDF and VCE dumps Download

 

Which three statements are true about the configuration extract? 

A. To connect to the website, site1.example.com must resolve to a different IP address than site2.example.com. 

B. site1.example.com and site2.example.com can share the same IP address. 

C. The web server attempts a DHCP discover to assign one IP address per virtual host. 

D. It is possible but not mandatory to have unique IP addresses for each virtual host. 

E. The site1.example.com virtual host shares and error logs with site2.example.com. 

Correct Answer: ACE 

 

QUESTION 4

While adding the first Access Control List (ACL) to a file located on an ext3 file system, you receive an error: 

Identity the reason for the Operation not supported error. 

A. The file system in question must be mounted, including the acl mount option. 

B. ACLS are not supported when SELinux is enabled. 

C. The ac1 RPM must be installed to enable ACL support. 

D. The user trying to add the ACL is not the file owner. 

E. The setfac1 command shown contains a syntax error. 

F. An ext3 file system does not support ACLs. 

Correct Answer: A 

 

QUESTION 5

Examine the list of requirements for an XFS file system: 

1. 

Its label must be /xfs1. 

2. 
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It must mount automatically during system startup. 

3. 

The user data must be stored on /dev/sdh1. 

4. 

The journal data must be stored on /dev/sdd1. 

5. 

The journal must be 4GB in size. 

6. 

It must contain a real-time section. 

7. 

Its block size must be 4096 bytes. 

You execute the command: 

# mkfs –t xfs –L /xfs1 –l logdev=/dev/sdd1 –d size=4g /dev/sdh1 

Which requirements do you meet? 

A. 1, 3, 4, 7 

B. 1, 2, 3, 4, 7 

C. 1, 3, 4 

D. 1, 3, 4, 5, 7 

E. 1, 3, 4, 5, 6, 7 

F. 1, 2, 3, 4, 5, 6, 7 

Correct Answer: E 
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